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No. of Questions : 120
WAl i HEAT: 120
Tirne : 2 Hours Full Marks : 360
a9y : 2 qU2 qUTiE : 360

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

guestion.

st 99l Pl &1 HE F TS HL | IAF 997 3 ()
3Dl & | FEF TAT IOT B NG TH HF FeT A
W% AT UH W W LT BT |

(2} If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.
g% Tt Jieqes I T8 I B epe i &, af e
&l I 3 |

Read the passage and answer the six questions given after it.

narcissism is said to be the 'Hysteria' of the 20" century. Among
other related social illnesses more and more people claim disturbance
of self-esteem and a feeling of great emptiness. The 'modern’
narcissism however, seems not to have originated in the early
childhood as once described by Freud, but to have been enforced
and constructed by society. Economic and technological changes, as
well as changes in social values are all contributing factors to increase
narcissism in post modernity.

"Mirror mirror on the wall, Who is the fairest of them all ?" The queen,
in the fairy tale Snow White, Values her 'self according to the mirror's

3 P.T.O.
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opinion. Not being the 'fairest’ is unacceptable, and she is willing 1o
kill to change that. The mirror is, of course, a metaphor for the
reflection of the self in other people, which is used by the narcissist
to value his own 'self. The narcissist individual is disinterested in
others and only works for his personal advantage. Alice Miller describes
the narcissist as constantly striving for grandiosity, which then 1s
reflected in the admiration of others and so confirms superiority and
raises the individual-self esteem. Through admiration and approval,
the uncertain-self worthiness is bolstered. If the individual does not
experience admiration, it is likely to suffer from depression and the
feeling of severe emptiness emerging from this low self-esteem. However,
narcissism is not about self-love but self-hatred. The narcissistic
individual has an empty self with no identity of its own. Thus, the
reflection of the self in other people is a search for seli-identity and way
of feeling the inner emptiness. _ '

Admiration and approval that support sell-esteem are often achieved
through the external image of the self. Society today is dominated by
appearance. The invention of mass media has created new powerful
sources for ideals and values and has become the single most powerful
cultural influence on young people in western societies. Some of the
strongest ideals are the body image, the sexual image and the status
image related to economic success.

Postmodern society is bringing out narcissistic characteristics,
enforcing existing 'healthy' narcissism. Today's mostly prevailing
narcissism is not a psychological disturbance of early childhood, but
an ongoing socially constructed characteristic shared by members of
most western societies. The empty ‘self seems to be a mass symptom
of the western society and is medicated with consumption and E:bjccij ve
status symbols to fill the inner emptiness. Self-identity has perhapé
always been related to apparels and achievements in the reflections
?f others, out post-modernity and modern mass media have greatl;f
increased the burden of the worldly mirror, and by doing so it.f has
taken narcissism to a completely new level. \
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As per the above passage about narcissism, which of the
following statements is true ?

(1) Narcissism develops as a symptom of low self-esteem and a
need for identity.

(2) Narcissism is not a disease.
(3] Narcissism is found among rich people only.
(4) Narcissism is more in highly educated people.

Which of the following statements can be inferred
from the above passage ?

(1} Technological advancements are good for narcissist person.
(2) A narcissist is always a loyal friend.
(3) Narcissism is eradicated after invention of its vaccine,

(4) Admiration from others is the fuel that feeds the narcissist's
self-esteem.

Why does the author refer to the queen in the tale of Snow White ?
(1) Because Snow White was beautiful.

(2) To provide an analogy to his idea.

(3) Because narcissism is not in India.

(4) To tell the readers how important is to know the story of Snow
White.

04. The author of the passage is most likely to agree with which of the

following statements ?

(1) Values of the postmodern society seem to have contributed to
increase narcissisim.

(2) Narcissism is associated with eye sight.

(3) Government has been working to increase narcissism in the
society.

(4) Entire postmodern society is narcissist.

S P.T.O.
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05. What does the author mean by "Narcissism is said to be the "Hysteria

06.

07.

08.

09.

of the 20" century” ?

(1) Root cause of all the problems of 20" century .

(2] All citizens in 20" century are affected by it.

(3) A psychological disease which 20" century is inflicted with.
(4) People of 20" century like those who have this disease.

The author uses the examples of the tale of the Snow White to explain
which of the following ?

(1) Snow White was narcissist.

(2) Narcissist seeking approval in the eyes of other.

(3) Snow White invented the cure for narcissism.

(4) Narcissism was wide spread during the era of Snow White.

Find out whether there is any grammatical error in the given sentence.
We discussd about the problem so thoroughly/on the eve of
examination/that I found it was very easy to work it out.

(1) We discussed about the problem so thoroughly
(2) on the eve of examination
(3] that I found it was very easy to work it out

(4) No error

Find the correctly spelt word
(1) Inoculation (2) Innoculation
(3) Inocculation (4) Inocullation

Find out the correct spelling from the following four options.
(1) Caribean (2) Carribean
13} Caribbean (4) Caribbian
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If sweet be bought at the rate of 14 for a rupee. How many must be
sold for a rupee to gain 40% profit ?

ug w98 § 14 eyt @dd of ¥ O e frezdt o =y A
T+ anfed aifs 40% & HrIET 8 ?

(1) 15 (2) 9 (3). 12 (4] 10

By selling a book for Rs. 50, a man lost 4%, Find what would have
been his gain or loss if it had been sold for Rs. 60 ?

l
(1) 15%-%1933 (2) 16% loss

|
(3) 15;%gain (4) 16% gain

e o 50 TUd H = 9T ush ARH B 4% 1 HEE adr

21 T g8 =afeT IUT B Y 60 So ® Jar B O 39 o
wEEr ar A BT ?

(1) lﬁ%%gﬁmﬁ (2) 16% JHaH

|
(3) 155 % BrT (4)  16% SIS

The average of two numbers is 62. If 2 be added to the smaller number,
the ratio between the numbers will become 1:2. The smaller number

15 .

&l HeEaradt &7 39T 62 8 | 3FR 81 §E& & 2 9e fRar 5 ar gl
el ST 1:2 & ST 81 Bl e a9
(1) 40 (2) 60 (3) 84 (4) 30

7 P.T.O.
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13.

14.

15.

16.

In a class of 20 students in an examination in mathematics 2 students
scored 100 marks each, 3 students got zero each, 15 students scored

40 marks each. What is the average of the whole class ?

(1) 32 marks (2) 40 marks

(3] 35 marks (4] 45 marks

20 BIA & U e H, WO FH qHET 7 2 8E H F T@H B 100

T B, 3uE § @ 9% B g g 158E § J 9O & 40 7=
ey | Odr e A Sfea fs e e 7

(1) 327 (2) 40 T=ET
(3) 35+HT (4) 457

Find the value of ?

2/ 16 = 0.5

(1) 32 (2] 64 (3) 12 (4] 8
? &l |19 s Y

?/ 16 = 0.5

(1) 32 (2) 64 (3) 12 (4] 8
f0.4:1.4: 1.4 :x, thevalue of xis :

AT 0.4:1.4 - 14:x 8 d x & 499 =9 F7

(1) 0.49 (2} 4.9 (3) 49 (4) 0.4

If 'yellow' is called ‘red’, 'red’ is called 'blue’, 'blue’ is called "white’,
white', is called 'black’, black is called 'green’, and 'green’ is called
‘violet', what is the color of clear sky ?

(1] Green (2] Violet
(3] Red (4) None
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AT ‘Ol & B, ‘T e’ B, i’ 995 8, gha Sl 8, FHiell
B 2, AL BY STl B, a7 |I% IR B T FM B 7

(1) &0 (2) S

(3) (4) 37 | g TE

In a certain code STAR is written as 5%*2 and TORE is written as

$32@. How is OATS written in the code ?

3 foper s # STAR @1 5$*2 391X TORE = $32@ ferar =mam &1
39 Hs § OATS & & ferad ?

(1) 3*58 (2) 3*$5 (3) 3%*5 (4) 35*$
1/2 of 444 - 2.22is:

444: 222 F1f28 :

(1) 222 (2) 100 (3) 22 (4) 492.84
(60) =2 x 72 :

(60): =2 x 72 7 & HE @ :

(1) 49 (2) 51 (3) 52 (4) 50

? % 12 = 75% of 336 :

2 x 12 = 75% of 336 ¢ & HIE aqrd :
(1) 48 (2} 21 (3] 252 (4) 28

9 P.T.O.
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21, 5/3+7/6+9/3+7/2=7?

5/3+7/6+9/3+7/2=7? T A9 I :

(1) 112/3 (2) 28/3
(3) 14/7 (4) 28/12
22. Rusting gradually ............ iron nails :
(1} ravages (2) spoils
(3) erodes (4) demolishes

23. Find correct sequence of the sentence :

fa) the CEO (b} of making the right decision
(c} was not scared (d) despite a loss in prolits

(1) abcd (2) abdc

(3) achbd (4) bcda

24. Following is a set of four sentences. Choose the sentence which is
grammatically, semantically and logically most appropriate.

(1) Hi Harish. Long time no see. How was it going ? |
{2) Hi Harish. We haven't met in a long time. How is it going ?
(3) Hi Harish. We haven't met for a long time. How is it going ?

(4) Hi Harish. Long time no meet. How has it been going ?

25. A person who renounces the world and practices self-discipline in
order to attain salvation is called :

(1) Sceptic (2) Ascetic
{3} Devotee (4] Antiquarian

10
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U T S g qegell ® @mr $Y ST SHAEA B A
hedr B I A @ M #H ES, I8 FBd 8

(1) Hergars (2) @my, AT

(3) AT IITEE (4) gaaEm

rerereeeaneanse. UNIVersity is a place where students get education.
(1) Any (2) An |

(3) A (4) One

Choose the compound noun, Sun ?

(1) moon (2) planét
(3) sky (4) shine

'P/Q' means 'P is the son of Q'. P x Q' means 'P is the sister of Q'. P +
Q' means "P is the brother of Q'. 'P - Q' means 'P is the mother of Q.
How is T related to S in the following formula ?

'TxR+V/S
(1) Daughter (2] Sister
(3] Aunt (4) Mother

ST 'P/Q I Aa@E 'P,Q & FeT B | PxQ FH @S 'P,Q W FEA
2, 'P+Q'%H AaAwd H 'P,Q F 9§ &, P-Q H Hawd 'P,Q @ Hf ¥
fepfafaa ®er T, s & fra wopr gt 8 7

T xR+ V/S
(1) geit (2) s&
(3) = (4) ®Ta

11 P.T.O.
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29. On which day of the week does Arti's birthday fall ? 1f :

(1)

(1

(111)

Sonu correctly remembers that Arti's birthday falls after
Wednesday but before Sunday.

Shanu clearly remembers that Arti's birthday does not fall on
Monday and Tuesday.

Raj correctly remembers that Arti's birthday falls before Friday
but after Tuesday.

Data in statement I alone is enough to answer the question.
Data in statement II alone is enough to answer the question.
Data inboth the statements | & Il are required to answer the
question

[Data in all the statements [, [l and Il are not suflicicnt o answer

the guestion.

AT 1 ST B & By 29 2| 2 ? gfe

()

(1)

(1)

(1)
2)
(3)

A H 3R | A8 B H AR i SHRT PER B aw 9y
ea & TBe Usar 21
H TEI ST B

5T I 328 | 16 2 6 AT T TG bt & gsat Tiwg
A B ArE BT 8 | h

29 U9 T I oF B[O grE [ & T #
g4 999 F Id o4 B " Gy 118 73w 2 |
g9 999 H Il a1 H [ 1 g I I 9= TJifey |

ZH 999 & I@L 37 & o7 9T L1 g (1] a1 & ygha 985
B

12
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30. Read both the statements and decide which of the following answer

31.

choice correctly depicts the relationship between these two
statements,

(] Computer education has been made mandatory in manv schools
for all the classes.

I} The current job market prefers computer literate workforce.

1} If statement [ is the cause and statement Il is its effect.

2) If statement Il is the cause and statement | is its effect.

3) If both the statements [ and II are independent causes.

(4) If both the statements I and Il are effects of independent causes.

e &l T A 19 11 @ s | 9o 9 39 g 6l 1Y 3
g?ﬁﬁ—mwaﬁmiauﬁﬁﬁ@ﬁrﬂrﬁﬂﬁwﬁ:m

() *Fge [qua @ 9er #3 [Guee § AtEd $7 & o E
(1) 35 & FraE ey JHET HHaAal B 9698 B 8 |
(1) T 1RO B F aE [ SHH 9979 2 |

(2) arFg U FHRY 8 G JrFg 1 IHH U9T 2 |

(3) @ A g 1 a1 s T

(4) ST BT 9@ 19 11 ©@dd RO & J9E 8 |

Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two
statements?

(I}  All domestic airlines increased the fares in all sectors with
immediate effect

(Il) Railways increased the fare of all its classes with immediate effect
(1) If statement [ is the cause and statement II is its effect
(2) If statement II is the cause and statement | is its effect
(3) If both the statements | and Il are independent causes.
(4) If both the statements I and II are elfects of some common cause.

13 P.T.O.
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32.

33.

FS R g 1A TR g IS W Il ¥ 8 HE- ol
ST g [ 1H B T g & 98t 9h | gorfar 8 7

1 | 9y fEm weafE 9 an E e 7 efwr e go
o & =TT T 2

1) Yo FamT F aroR @it g o R g w9 | e fea
o

(1) 919 1O & g J199 [ 3EHT 999 8 |

(2) AT [ & B g g [ 39H T9G B |

(3) QT BN 9 19 1 | Hr #

(4] T &1 9= 19 0 fEEr o | g HIO H G9E 2

Ornithologist ; Bird : Geologist : ?

(1) Islands (2) Mediators
(3) Earth (4) Aquatic
Tefl faerrir : galr - gfeasE

(1) &M (2) HeOET
(3) AT (4) RIG

Which one will replace the question mark ?

g9 &= &1 949 sdd

AY | cv |ES
GP|ILM |?
M.G| O.D |Q.A

(1) L.J (2) K,.O (3) 1.0 (4) K.J

14



18P/282/26\1)

34. A,B,C, D, E, F, G and H are eight friends sitting around a circular

35.

table facing the centre. A sits second to the left of D, who is third to
the left of E.C. sits third to the right of G who is not an immediate
neighbour of E.H sits third to the right of B who sits second to the
right of G. Who sits between D and C ?

(1) Only B (2) Only C and A
(3) Only G (4) Only E

Which one of the given options will replace the question mark ?

de g Y faedl § A F9-9r ey uw e $ e w
I 7

(1) 1 (2) 4 (3) 3 (4) 9.5

15 P.T.O.
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86. Which one will replace the question mark ?

37.

38.

F9 a1 T ueg s $ e 9¢ I Y

(1) 18 (2) 12 (3] 9

Choose the word which is different from the rest :
(1}  Thiruvananthapuram (2) Bangaluru
(3) Bhubaneshwar (4} Vijaywada

ATETT T HY -

(1) ferasay™ (2) e

(3) YaAwET (4) fasgarsT
Choose the word which is different from the rest :
(1) Rhea (2} Trout

(3} Lamprey (4] Salmon

16
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(1) fean (2) =3
(3) @ (4) e

One morning Udai and Vishal were talking to each other face to face
at a crossing, If Vishal's shadow was exactly to the left of Udai, which
direction was Udai facing ?

(1] East (2) West
{3) North (4) South
0 I8 UFH N8 T I&g 9 91T T g & 30 3@t ard 57

@ 2| gfe fqur #i s 359 $ S aiF o B, &Y 399 B 2
4 g9 B 97 BHT & 7

(1) gd (2) GfFEs
(3) I (4) afgor

Which of the following gas is not a green house gas ?

(I] Methane (2] Nitrous oxide
(3) Carbon dioxide (4) Hydrogen

=1 & & @9 & e v W9 eeg T ad § 7

(1) e (2) IETH.ATFERES
(3) THEA 33 AFEASS (4) BRI

Name an inert gas which is substituted for nitrogen in the air in the
cylinder used by deep sea divers for breathing underwater is :

(1) Argon (2) Xenon
(3} Helium (4] Krypton

17 P.T.O.
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42.

44,

ST fgarsd § AmEe B 9 97 JEE & S el 3HiEg
TG Fr A9 g9rd

(1) HAFH (2) FFE
(3) EifgH (4) fpes
What is the other name of Brahmaputra in Assam ?
(1) Satra (2) Siang
(3) China river (4) Lohit
SEHYA T T FEH F gEA A [ g7
(1} =1 (2) A
(3) = 4T (4) wfed
. Butterfly museum is in which state ?
(1) Assam " (2) Nagaland
{3) Meghalaya (4) Arunachal Pradesh
Feraferal @1 duerery e wog A fe B 7
(1) 379H (2) ATNRIE
(3] HHed (4) ST=UEE Weer
Chief architect of Taj mahal was : _
(1) Abdul al-Nabi al-Qarshi (2) TI'timad-ud-Daulah
(3) Ahmed Shah Bahadur (4) Ustad-Ahmad Lahori

AR B g aRgHi B 9 7
(1) Tege HAT-TTaT SFA-HLA  (2) FHS-II-AH
(3) 3TEHE AW «BGL (4) SENE-38RE B

18
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Hawa Mahal of Jaipur was built by .............in ..........
(1) Sawai Man Singh, 1780

(2) Sawai Jai Singh II, 1799

(3) Sawai Pratap Singh, 1789

(4) Sawai Gandharva, 1786

SIgYY H BATHEA ....oeeee 11 # SEmEr T v
(1) w=d =79 &8, 1780 (2) wemg s fYe 10, 1799
(3) warg warg f¥§E, 1789 (4) ®arg Tivd, 1786

Rohtang pass connects :

(1) Kullu with Lahaul and Spiti
(2) Chamba and Khajjiar

(3) Shimla and Manali

(4) Dhramshala and Dalhausie

UdlT 91y Sger 8 -

(1) Hog @ @ea g & /@ (2) == g a@iome @)t
(3) femem @ 59=T i (4) uHImeT g =AEST F
Which of the following is used in pencils ?

(1) Graphite (2) Silicon

(3) Charcoal (4} Phosphorous
ofeae # Fesr & & ar gdieT B @ 7

(1) FET | (2) fafoE=

(3) TR (4) SIERY

The book 'Midnight's Children' is written by :

(1) Vikram Seth (2] Salman Rushdie
(3) Arundhati Roy (4) Shashi Tharoor

19 P.T.O.



18P/ 282/26|i)

49,

50.

S51.

52.

‘frr-ges faes (&A™ &% e A E
(1) fazpm | (2) HAHE Al
(3) ST " (4)  orfar o=y

India shares its political land boundaries with :

(1} 5 countries (2) 6 countries

(3} 7 countries (4) 8 countries

wre ST Tedtae gfn g 2t | e wxar #

(1) 5= #H (2) 630 4

(3) 73 #| (4) s3=m A

Harappan civilization was a part of :

(1] Stone age (2) Iron age

(3} Bronze age (4) Copper age

gz Hegar e gu e feEr e ?

(1) ST g () @& Fu

(3} & T (4) ofEr g

Luxor, Abu Simbel, Giza and Karnak cities are connected with .
(1) The Greece Civilization (2) The Chinese Civilization
(3) The Inca Civilization (4) The Egyptian Civilization
N g feram, Mom a &l oY fosr § 7 THEg FEraa
A v _
(1) EQEITFT‘T AT (2) AT "

(3) F=F H«l (4) g & J¥an

Bellandur lake in Bangalure frequently shows presence of fire above
water. It is due to the presence of :

(1) Ethane (2) Methane
(3] Propane (4} Butane

20
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AT A Aoy i ¥ Ot B BT aR-aR o SRt g4

20| &I YR F FHIOT BT T
(1) 9 (2) #EN
(3) 9O+ (4) =

In January, 2018 the Annual World Economic Forum Meet was held
in :

(1) Brussels (2) Tokyo
(3) Davos (4] Moscow

Sa<l 2018 H ares faeq onf¥e #a & @W (Annual World
Economic Forum Meet) el 3Efote gs o ?

(1) &9 (2) <

(3) arEg (4) HR=Y

Indian Railways has conducted the trial run for high-speed Talgo
trains on ;

(1) Bareilly-to-Moradabad stretch in Uttar Pradesh
(2) Mumbai-to-Pune stretch in Maharashtra

(3) Delhi-to-Agra stretch in Uttar Pradesh

(4) Ahmadabad-to-Gandhinagar in Gujarat

W@ 3@ A dE N | g9 adl e T 9 H gd adrery e |
T Fer w feRar 7

(1) I "aer H @l 9 gIeEs $ 9"

(2) mersg # P | N & =

(3) ool & I "o H T & &=

(4) TR H e @ T e & A

21 P.T.O.
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55. Three main schools (branches) of Buddhism are :
(1) Heenayana, Mahayana and Vajrayana
(2) Anatta, Heenayana and Mahayana
(3) Amida Buddhism, Anatta and Mahayana
(4) Heenayana, Vajrayana and Amida Buddhism

drg ud # IF gE aEd
(1) B, 7EEE, 9 a5 aH 8
(2) ST, €A g HEEH 8§
(3] omEr dis, FACT a HBEF B
(4) EFEE, gua 9 ST S 8

56. Bull taming during the celebration of Pongal festival is known as :
(1) Losar (2) Jallikattu
(3) Hornbill festival (4) Saga Dawa

dhrer & S 39t @y gy # R S Ty @ @ T Sed 8 ¢
(1) @Y (2) TEIEhTS

(3] BFifae &R (4) P T
57. Lohri marks the end of month :

(1) Asadha (2) Magh

(3) Kartika (4) Pausa

Al AEdT e AtE 3 o § \erar Sian 8 7

(1) NS (2) #HME

(3) =HIT (4) 9w

58. Tansen Samman is given away to the exponents in :
(1) Hindi Film Music composition
(2) Any film music composition in India
(3] Hindustani Classical Music
(4} An international award to music compositions
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AHEH I . o9 F I ufaye & ) fRar s @
(1) f<1 fpedt gifiq == 3 ford

(2) R ot s el Sl & == 3 Rl

(3) WA M g $ i

(4) W IS 3 R Rar S aer @ sreRisig g

- The headquarters of the World Tourism Organisation is in :
(1) Barcelona (Spain) (2) Madrid (Spain)
(3) Chicago (USA) (4) Brussels (Belgium)

faea wes ew = e e
(1) si&aET (@9) & (2) A= (F=) &
(3] farprm (goffﬂofla) H (4) sHE (Ifeoras) #

. Match list 1 az;fd Il and select your answer accurding to the codes
given below :

List I List IT
(A} Adventure tourist (I} Balaji
(B) Spiritual/Religious tourist (I} Jahangir Art Gallery

(C) Business tourist (IIf) Nariman Point

(D) Cultural tourist (IV] Mount Everest
Codes : A B C D

1 I I I v

2 IV I Iil 1T

3 v I II 111

4 I 111 IV Il
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61.

62.

63.

g 1o 11 g & e &Y fem wig | |er 3w A T F3

g 1 gl 1
(A) TsdEY e (1) rerm
By folfrgem feifome gfiee ) @EET @il
(¢) femmE Tt (m) AT =g e
(D) Fealel IRE (Iv) HIdE UgaE

PS : A B C D
1 | | Il ' A%
2 Y I if i
3 v | i il
4 i 111 v Il

The Strait of Gibraltar separates Spain from :

(1) Asia (2) Australia
(3] North America (4] Alrica
fSraTeet 7 STOSHEHET dI9 H TAT HIA 8
(1) ofrar | (2) ST |
(3) Il HATEH H (4] oTHER &

Durand Line is the boundary of two countries namely ;
(1) India and Pakistan (2) Nepal and China
(3) Pakistan and Afghanistan (4} Nepal and India

57vg wE e @Y 2w & G B
(1) 9Rd g iR (2) AU g =GH
(31 TR @ FHIET (4) ST T 9

Name the largest Island in the World :

(1) Greenland (2] Madagascar
(3) Great island (4] New Guinea
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65.

66.

18P/282/26(i)

faee & waifves a2 &M & 99 Saan

(1} ¥ @3 (2) FASTIEHT

(3) T FAUS (4) =g i
Sariska Tiger Reserve is located at :

(1} Uttarakhand (2) Uttar Pradesh
(3] Rajasthan (4) Gujarat
Hfeh ama e R 2

(1) IcEss # (2) IwIT oo F
(3) TR A (4) o H
Simplipal Biosphere Reserve is located at ;

(1) Odisha (2) Meghalaya
(3) Mizoram (4) Sikkim
faferare Ui SEREET (STa #osq) ol fea B
(1) s | (2) HeaT@d #H

(3) feE ® (4) FafEEpq #

Mohiniyattam is a popular dance form of :

(1) Karnataka (2] Tamil Nadu
(3) Kerala (4) Telangana
gfgeg G Afe-isieed HEUT & ¢

(1) @Honiesh (2) aftreETg H
(3) = H (4) dAeTET H

25 P.T.O.
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67. Ustad Amjad Ali Khan is a famous Indian music personality associated

68.

69.

70.

with :

(1) Tabla (2) Santoor

(3}  Sarod (4) Sitar

(1) g | (2) G A

(3} U= | (4) Tuamw 4

Which one of these is not a World Heritage site of India ;

(1] Jantar Mantar complex (2] Bibi-ka-Magbara

(3) Elephanta cave (4] Rock Shelters at Bhimbetka
fr & 9 $9 Wiy [@eg aey = 99 7

(1) WY Ha Heged (2) e~

(3) Qferper o (4) Fordreem Rera e
Ancient cave temples especially famous for "Temple of Kailash' are :
(1} Ajanta Caves (2] Elephanta Caves

(3] Bhubaneshwar Temples (4) Ellora Caves

O Aegpd Afey et ey Hiww # o aiye ¥

(1) @¥tar e (2) ufeTher YHn

(3) Yy F HieY (4) TR TR

Onges, Sentinelese, Shompens tribes are found in :
(1}  Andman and Nicobar islands

(2) Jharkhand

(3] Nagaland

(4] Meghalaya
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73.
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AW, HERew, G sy B § od o &
(1) ofosa= g e 9§ (2) zw@vE i
(3) TS 7 (4) A §

Which one of the following dance forms is associated with Samvukta
Panigrahi ?

(1) Kathak (2) kathakali

(3] Odissi (4] Lavani

s & 8 $IF-91 To7 G4 afermE § gefag & 7

(1) 7% (2) =T

(3) oAfsEn (4] @TEYi

From where was capital of Harshavardhana shifted to Kannauj ?
(1) Uijain (2) Thaneshwar

{3) Jabalpur (4) Indore

Bgm & Tl FBl G FHeilol L= 88 ?

(1) IsoH (2) oMET

(3) STERIYR (4) 3

When was Project Tiger launched in India ?

(1) On April 1, 1981 (2) On March 10, 1972
(3) On March 10, 1980 (4) On April 1, 1973
qRd H T A B G BT 7

(1) 1379, 1981 & (2) 107", 19727
(3) 10 #ATd, 1980 @ (4) 13789, 1973 4
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74.

75.

76.

77.

The programme of Environment Impact Assessement (1A} was

introduced in ;

THEIOTY U9 geaE (Fo3TEolo) AT &1 A e ad |
3z

(1] 1975 (2) 1977 (3) 1980 (4) 1982

Which of the following is the region where Toda tribals inhabitate 2

(1] Nilgiris (2) Ootw

(3) Garhwal {(4) Darjecling
frr & 4 a7 @ F St oot @d § 7

(1) et (2] HE

(3] AT (4] &I

Heritage hotels are those hotels that were built on heritage buildings/
castles/hawelis, and were built prior to :

afves Bled d slew § o 6 2w Rfesw /g 23 o7 Mg &
oar oy 99 @ 99 & B

(1) 1980 (2) 1960

(3) 1947 (4] 1950

Which one of the following is not present i an In-flicht meny ?
(1) Beer (2] Red Wine

(3} Cigarcttes (4]  White Wine
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79.

80.
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RAR SR A A F e § § @ Fior suRea w6t et ®
(1) e (2) I G
(3) fame (4) =BIEed 9rEq

Sarnath is well known because :

(1) It is a holy place for Buddhists

(2) Vardhman Mahavir was born here
(3] It was an ancient capital of Kashi
(4] [t 1s UNESCO world heritage site
Ay e & s

(1) ¥% 9ral = afgs =+ 8

(2) FEHE HEMR Bl UaT 89

(3) 9T I TB UTEN ST @8
(4) T8 gAgH faea uqeT & B

Who is the first Indian to win the World Amateur Billiard title ?

(1) Manoj Kothari (2) Geet Sethi

(3] Pankaj Advani (4) Wilson Jones

ger Wiy forad g cramaetas [fees Raae s -
(1) FFT IS (2) T |3

(3] HEeT SASAr (4) faee= a4

"Ace”,"Deuce”, "Drop volley”, "Game Point" are the terms associated
with Sports :

(1] Lawn tennis (2) Cricket

(3] Football {4) Polo

o, FagEr, ‘@it dfer, A age anfe o wat ¥
(1) &= 29 | (2) TFe |

(3) EEErT H (4) T |
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81. in the following, lst I gives tourist spot and list II gives Country.
Match the list I and II and identify the correct code :

List I List II
(A] Santosa (' The USA
(B) Auli (1) India
(C) Angkor Wat () Singapore
(D] Miami Beach (IV] Cambodia

Codes : A B [ D
1 I I v 1
L 111 i IV 1
3 I 1l 1 Y
} IV I T I

T 18 wdfen et g gdt 1§ daw a0 & 7 feu ¥ ) G g
Fr3 ¥ FE1 &S F] AT B

gl 1 gl I
(A] Her&r () YouHoUo
(13) e (1) e
(C)  HTRREre (1) FEIge
(D) HEEr &= (IV) =Nz

HS : A B C D
! 11 [ I I
2 11} Il IV [
3 | Il [ 1\
4 IV 1l Il 1
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83.

84,

85.

18P/282/26(i)

The Nagarhole national Park was established in :

ATEI TS SRS Sl &9 85
(1) 1978 (2) 1988 (3) 1998 (4] 1968

Air transport in India is regulated by :

(1) Airport Authority of India

(2) Directorate General of Civil Aviation

(3) Indian Tourism Development Corporation
(4) International Air Tourism Association

Ad H arg o T @ # o

(1) Tggre uAfvdl e gvsar am

(2) STERFEYe FEia dE fHfee ofadss amo
(3) zfPszw gitow e A= HURE &}

(4) e UHR oY udifHdEs B

Number of Railway zones in India are .

qRd H T AN S G§dr B
(1} 9 (2) 12 (3) 16 (4) 20

Which of these is not a subsidirary agency of the United Nations ?

frer & @ P9 dgFT U B GEEEH @ B 8
(1} ICAO (2) IAEA
(3) WHO (4) IRC

31 P.T.O.
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86,

87.

88,

89.

Hoysaleshwara temple is situated at ,

(1) Beluru (2) Halebidu

(3) DBadami (4) Hampi

Blaeeay dfey fe ®

(1) == 4 (2) ®&dfag

(3) amerdr (4) ==t A

Name the Gupta King who founded the Nalanda University :
(1) Kumargupta-I (2) Chandragupta-I

(3} Sri Gupta (4] Skandagupta

IE A A A A g e A faeataeney #r o
&

(1) FHATT 9=IH (2) = HTH

(3) =T (4) T

The importance of the Sanchi Stupa (Great Stupa) is indicated by the
presence of an Ashokan pillar at the :

(1) Southern entrance {2) Northern entrance
(3] Western entrance (4} Eastern entrance

ar=T TETR) ®H HEwH A & § Bl & o e md
m%%%) ¥

(1) afeol gdsr gw (2) I udor B
(3) dfTEHr uder W (4) gET 9T E@w

Which was the first state to launch cheap sanitary pad scheme "Asmita
Yojana" for rural women ?

(1) Punjab (2) Haryana

(3) Maharashtra (4) Rajasthan
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90.

gli

92.

18P/282/26(i)

g g arr o wfearell & fio Twlt afed 95 deEr

(1) duirs (2) sREmT

(3) HERT (4) oTR=

The National Productivity Day (NPD} 2018 was observed on which
date in India ?

(1} February 09 (2) February 12

(3) February 11 (4) February 10

TS 3w 499 (NPD) 2018 9Re § g B w=man @mar

(1) 09 HLEdd (2) 12 ®Ed

(3) 11 BLad (4) 10 HLEL

Who has been sworn-in as new President of South Africa ?
(1} Cyril Ramaphosa (2) Jacob Zuma

(3] Cyilmso Motlanthe (4] David Mabuza

gferor sk # fohem A9 Usoufa & e & sty fwm ?
(1) MRe ™\ wm

(2) 5B oA

(3) Terems A=Y

(4) 2= g

Which state emerged as overall champion in the first (inaugural) edition
of Khelo India School Games (KISG) that was held recently :

(1] Haryana (2) Maharashtra
(3] Rajasthan (4) Punjab
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93.

94,

aqﬁTmﬁﬁ‘HﬂF{@‘@ﬁraﬁﬂ‘@@?rﬁﬂ’(%Gﬂ?Qﬂﬁmﬁﬂ
Tt # $e o Il A ?

(1) =f=rem

(2) "B

(3) TR

(4) 9=

Who will be the first female Hindu lawmaker in Pakistan since 19
2
(1) Krishna Kumari (2) Chandra Prabha

(3) Pallavi Lachhami (4) Shivani Prasad

aiftked § 1947 & v faeg Afeen wREA E 7
(1) =1 FAR

(2} == T4

(3) Teerd] Tl

(4) fammt ga=

Asma Jahangir, the renowned human rights lawyer passed aw
She hailed from which country ?

(1} India (2} Israel

(3) Myanmar (4) Pakistan

iR #t UitRg adid ATEHT SRR # uF gaw B, 3
Zor | v Af 7

(1) Ard (2} gATEd

(3) =R (4] iR
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18P/282/26(i)

Who won the Women Singles Wimbledon Champioship of 2017 2
(1) Serena Williams (2] Simona Halep

(3) Angelique Kerber (4)  Garbine Muguruza

Who amongst the following has not been captain of the team winning
ICC Under 19 World Cup ?

(1) Mohammed Kaif (2] Unmukta Chand
(3} Virat Kohli (4)  Yuvraj Singh

HISHET HAUSY 19 Freq @y & fadrar Emt F Frefofeg ¥ @9 amr
el @B 7

(1) oB= &% (2) T T
(3) Tawre e (4} gawer Rs

The National Sugar Institute (NSI) is located in which city of Utiar
Pradesh ?

(1) . Lucknow (2} Kanpur

{3) Agra (4) Varanasi

3T S & fHE el d uRdE o gers fiug &2

(1) &TETH (2) L
(3)  HPFIT (4) FTITOTET

35 P.T.O.
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98.

9.

100.

Who has been appointed as the first independent female director of
tmternational Cricket Council (ICC) ?

(1) Indra Nooyi (2) Archana Bhargava

(3) Tulasi Munda (4] Mira Bisht

efsdy e amateaw (SEETE) # A g FEes HfEe
fadors a1 frgae 88 7

(1) ¥=1 I3

(2) ST APt

(3) GRS

(4) Hr1 faw=

NCERT has collaborated with which internct company to teach

students digital safety ?

(1)  Microsoft (2) Twitter

(3] Face book (4) Google

o 1§ o & 3 g guee daT HET A e B st
T HeeT ge A o ' EEr fBar B 7

(1) gz | (2) @deT

(3) HEIH (4) TFTE

Who has become the world's first female crickeicr to take 200 wickets
in One-Day Internationals (ODI) ?

(1) Jhulan Goswami (2) Veda krishnar irthy

(3) Smriti Mandhana (4) Neectu David
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Wﬁﬂﬁrmﬁ%ﬁﬁ(ﬁma@}%ﬁszﬁfﬁzéﬁmﬁﬁﬁ?mﬁ
bl TH Hiee fhde faend a5 ?

(1) &= e
(2) T FooEfd
(3) FIA TR
(4) g, =

101. According to Prime Minister's Research Fellows scheme, how many
meritorious students of B, Tech and M. Tech are to get fellowship
every year ?

(1) 2000 (2) 2500 (3) 1000 (4) 1500

Aerdl 8T &l Belliorg fras ofgad fyent ?

(1) 2000 (2) 2500 (2) 1000 (2) 1500

102. Which state government has launched DASTAK campaign to eradicate
deadly Acute Encephalitis Syndrome (AES) and Japanise Encephalitis

(JE) disease ?
(1} Uttar Pradesh (2) Madhya Pradesh
(3) Andhra Pradesh (4] Himachal Pradesh

FFE T T A 5 a%asied JgM (03ud) ST SR sawaieE
{éﬁ}mﬁaﬁwﬁ%mwzﬁwmﬂ:ﬁm%?

(1) 3e 9291 : (2) #e3 o
(3] TTRET gEa (4) TEmTmEE u2gr
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103.Who has been hestowed with the V Shantaram Lifetime Achievement
Award 2018 2

(1} Shatrughan Sinha (2) Anurag Kashyap

(31 Vishal Bhardwaj (4) Shyam Benegal

fore 1. ST TE TTEH TETEAve JTER 2018 e AT ¢
(1) oges st (2) ST HId

2y fgeme WA (4) ga™ AT

104.Arrange the following monuments in the chronological order :
(i)  Qutub Minor
[iij Tort of Tughlagabad
({iii) Jama Masjid of Delhi
(iv] Buland Darwaza

Codes :
(1) v i i i
2) : i v i
(3) i i a i
{11 ii i i s
Fepyfefa TR Y PITEATGHRT afeerd i |

() S HER

(ii) RS R
(i) ST ", fewdr
(iv) Fel= L=

g

(1) v i i i
(2) i ii iv i
(3 11i ii i i
(4] i i ii v
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105.The mural paintings at Ajanta depict which religious philosophy ?
(1} Buddhism
{2) Jainism
(3) Hinduism
(4) Buddhism, Jainism and Hinduism

e % fofa-fa frg ad-gefe & garfiy & 2
(1) <& gH (2) o ¥
(3) fEg e+ (4) oE, 9 IR fag o

106. Name the World's largest Automated Container Terminal ?
(1) Keppel harbor in Singapore
(2) Shanghai Yangshan Deep Water Port in China
(3) Kwai Tsing Container Terminals in Hong Kong

(4) Port of Guangzhou in China

fage &1 Ha8 T ARHRE HeoA? ST ¥
(1) #9a BREY, MY

(2) s gmem dM grY 9, 99

(3) g 2fae wewy efifaw, =imem

(4) O I TS, =5E

107.A famous architectural work, done by Chandela kings, which can be
seen till to date are :

(1) Meenakshi Temples (2] Khajuraho Temples
(3) Angkor Wat (4) Kailash Temples

39 P.T.O.
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=Y

e el AR i angden I ST Al dEn ST OEEAl S

(1) #HEh "f=e (2) WATRI AET
(3) FHTRREE (4) Demer A=Y

108.Where are Karle and Bhaja caves located at ?

(1) Maharastra (2) Gujarat
(3) Orissa (4) Kerala
(1) wBRTg (2) T
(3) IErm (4) e

109.What is Kalaripayattu ?
(1) A type of dance drama practiced in Tamil Nadu
(2) A type of martial art practiced in Andhra Pradesh and Telangana
(3) A type of martial art practiced in Kerala and Tamil Nadu

(4] A type of dance drama practiced in Kerala

FHeA ] 8 7
(1) % 9T F JF Aed & A qieg | gafad 2
(2) wH WEE # FE wen (wefa) wem B S S wder od deer 4

e 2|
(3) TH UHEK FHl T el (maﬁa)aﬁn%?ﬁ%wqaaﬁamgﬁﬁﬁﬂﬁ
z1

(4) WE UHR E JF Aed & A Hel H TEREE
110. Some tribes which are found in North eastern part of India are :

(1) Gujjars and Bhot (2) Gond, Bhil and Korku
(3) Garo, Khasi and Jaintia {4) Muria, Bhunjia and Dorla
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112,

113.
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B TAANGAT AT AT F Ia-gd 9T F af At ¥

(1) 7= @& 4 (2)  im, Ha od B
(3) Y, @redt aen SfeEn (4) g, s aor =i
Kasolisa ................and it is in the state of ...................

(1} beach resort, Goa

(2) hill station, Himachal Pradesh
(3) pilgrimage, Uttarakhand

(4) temple town, Tamil Nadu

FHET U ........ B T IS ...... T | e B

(1) 9= R, T (2) B R, feamEe 9o
(3) TefEs, saoEes (4) W 2MEA, dfHeg
Currently Chief Election Commissioner of India is :

(1} Mr. Om Prakash Rawat (2) Mr. T.N. Seshan

(3) Mr. Achal Kumar Joti (4) Mr. Nasim Zaidi

a9 d geq g YR 8

(1) 3 U191 7ag (2) @ uA. 9me

(3) arEe FEEr Jd (4) =t S

Mrs Anandiben Patel was/is Chief Ministerof .............. and Governor
of vieiinnnnn.

(i) Himanchal Pradesh, Uttar Pradesh
(2) Himanchal Pradesh, Rajasthan

(3) Gujarat, Rajasthan

(4) Gujarat, Madhya Pradesh

(1) Tewmae 9ggqr, I@X 9=qT (2) TBoATEw Uol, TAREH
(3)  TERE, I (4) I[N, " Oe9T|
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114.

115.

116.

India's first National Park was inaugurated in the year 1963 and it
was renamed in the honour of : :

(1) Sir John Lawrence (2) Major james E Corbett
(3) Lord Irwin (4) lLord mountbatten

qE B TeE SR 3E & Igured 1963 a9 # g3 3EH I
ATHFLT . ... . & == ° fapar T

(1) | S dE (2) HOR o€ § HreT
(3) @S g - (4) WS ArIveded

"Guruparva" is one of the most important festivals of the Sikhs, and is
celebrated in Nankanasahib, the birth place of :

(1) Gurugovind Singh (2} Guru Arjun Singh
(3) Guru Nanak (4] Guru Teg Bahadur

“arEyd” - el @ HEEyYl ud B, Sl g8 TAEE afed § e
AT B, S AT e E o

(1) T M= e @ (2) & [ e @
(3) TS AFH B (4] 5 ATEBET H

'Sambad Kaumudi" was launched in the year 1819 by Rajaram Mohan
Roy to abolish :

(1) Infanticide (2) Child Marriages

(3) Sati (4) Child widow marriages
‘qreg HIYETT ST TH A U ER 1819 H Uy A T,
e 38299 ... I GHE HIAT A7

(1) dTerEcer (2) = -foars

(3) el (4) T fGerar Gas
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117. Coffee Capital of India in the Western Ghats is in :

(1} Araku Valley (2]  Udagamandalam
(3) Munnar (4) Kodagu District
WA & ITFHT 9T &1 B ot sqafea B o
(1) S et (2) TIFHUSHH
(3) F=MT (4) @lery fem

118. This consists of two lists of statements. The candidate has to match
an item in one list with an item in the other :

List I List II
(Name of the Association) (Name of Founder)
(I  Servants of India Society, (A) Annie besant
Mumbai

\il) The Bharat Stree Mandal, (B] Sarala Bala Choudharani
Kolkata

(Ill) The Indian Women's (C) Sri Sankaracharya
Association, Madras

(IV) Sri Sringeri Math, Sringeri (D) Gopala Krishna Gokhale

Codes: I II I Iv
1 D B A 8
2 C D B A
3 B D A 4
4 D C B A
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Frafafaa gdl 1 wef @& gdr 11 & | gafaa i :

a1 o m
(Fred & M) (GeaTaes &1 )
() =de offp zfosar @Eed,  (A) O aHe

qrrg

) T wed B Asd, Aespa (B) WL S
any f& zsga giw oEifgue, (C) s QiR ITETH

HETH

(v) = 474 7S, g (D) TR T
hIS : I I 111 v

1 D D A o

2 C D B

3 B D A ¢

4 D & B A

119. Who has won the French open Mens singles tournament for the

maximum number of times ?

(1) Roger Fedrer (2) Boris Becker
(3) Rafael Nadal (4) Novak Djokovic
(1) I B8 (2) =fE A

(3) e ASTE (4) Arars ST

44



18P/282/26(i)

120.Where 2018 FIFA world cup football tournament is going 1o be

held ?
(1) Brazil (2] Russia
(3) England (4) Urugway

2018 T FIFA fasg H7 Bear wafie et 8 amr & ?
(1) =t (2) =g

(3] 3TeivE (4) I=9
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ROUGH WORK
T &
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ROUGH WORK
% &rd
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v & forg e
(sngﬁmﬁmmwwmm-ﬁ%aﬁqﬁﬂ

Faw el wrel seT-age 47 @ & ) H
mgﬁﬂiﬂﬁﬁﬁﬁﬁmﬁﬁ?%mﬁ%@ﬁﬁﬁwﬁmﬁwﬁqﬁ%mﬁ
Wiﬁpqﬁ‘fﬁiqﬁﬁmaﬁ%wﬁmﬁmgﬂﬁwﬁﬂw—ﬁm@%mﬂﬁ
A F gEd s I
T e B w7 & srffa, T A TE A o ge &r W H A ol
3, . 37, T T @ e e &1 g9 7 A st 7 8 forgpa 1 GET ST, AT,
Se7-05 T AT S e 3, UH, I, IN-UF H & qeAre e we
mﬁqﬁfﬁﬁnmw-wmﬁﬁvmﬂnﬁﬁﬁﬁﬁwmﬁ@
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